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Chinese, American 1 Beijingman 4 ~28, BRI .

(1) People 257 B BR /& protected ¥ double % i 51 48 & height F1 weight, UL & public
void speakHello() . public void averageHeight) Fll public void averageWeight() 7%,

(2) Chinese 254 People H 725,83 T public void chinaGongfu() J5 ¥, 3K Chinese
A JEHY public void speakHello() . public void averageHeight () 1 public void averageWeight ()
Tk

(3) American Z£ 2 People B9 T 25, # 3 T public void americanBoxing () J7 %, K



public class Hello {

public static

System.out.
Sue Z.printin(*Nice to

void main (String

printin(" AZ<4

American 5 A Z5 ) public void speakHello () . public void averageHeight () fll public void

averageWeight O J5 %,

(4) Beijingman & 4& Chinese [ F 25, # 1 T public void beijingOpera () J5 3, B 3K
Beijingman B 5 428 ) public void speakHello() | public void averageHeight () #l public void

averageWeight O J5 i,

People 2% . Chinese 2§, American 28l Beijingman 2509 UML ®WIE 5.1 iR,

People

height:double
weight:double

speakHello():void
averageHeight():void
average Weight():void

T

T

Chinese

American

chinaGongfu():void americanBoxing():void
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Beijingman

beijingOpera():void
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People. java
public class People {
protected double weight, height;
public void speakHello() {
System. out. println("yayayaya");
}
public void averageHeight() {
height = 173;
System. out. println("average height:" + height);
}
public void averageWeight() {
weight = 70;

System. out. println("average weight:" + weight);
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ow do you do
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Chinese. java

public class Chinese extends People {
public void speakHello() {
System. out. println("#F");
}
public void averageHeight() {
height = 168.78;
System. out. println("H E A3 &5 " + height + " JEK");
}
[ CARZED | //#E public void averageWeight () J5 ¥, it i " rf AN iy F £ A H 165 T 52"
public void chinaGongfu() {
Systenm. out. println(" AL U, v nAs, EMns");

}
American, java

public class American extends People {
[GRER) | //HEE public void speakHello()J5 ¥, % il "How do you do"
[ 3] //HE 5 public void averageHeight ()7 ¥, i ! "American's average
//height:176 cm"
public void averageWeight() {
weight = 75;
System. out. println("American's average weight:" + weight + " kg");

}

public void americanBoxing() {

System. out. println(" % A% HE%E");

}
Beijingman. java

public class Beijingman extends Chinese {

GRS | //H 5 public void averageHeight () J7 i, i th "t mt A M35 B 0172, 5 JHR"
[t 5) //TEE public void averageWeight () J5 %, fy i "db 5t A FYE 41K 70 T 55"

public void beijingOpera() {
System. out. printIn("fEf EH A JEEFEA");

}
Example. java

public class Example {
public static void main(String args[]) {

Chinese chinaPeople = new Chinese();
American americanPeople = new American();
Beijingman beijingPeople = new Beijingman();
chinaPeople. speakHello();
americanPeople. speakHello( ) ;
beijingPeople. speakHello();
chinaPeople. averageHeight( ) ;
americanPeople. averageHeight();
beijingPeople. averageHeight();
chinaPeople. averageWeight( ) ;

americanPeople. averageWeight();




public class Hello {

public static void main (String

System.out.printin(' AZ<s
=t o JONNUAENICENE

= NEA\A

beijingPeople. averageWeight();
chinaPeople. chinaGongfu() ;
americanPeople. americanBoxing() ;
beijingPeople. beijingOpera( ) ;
beijingPeople. chinaGongfu() ;
}
}
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double computerInterest() {
interest = year * 0. 35 * savedMoney;
return interest;

}

HWARAT ConstructionBank & Bank [ 28 , 1 £5 BSR4k 4% (1) 1% 53 4% 2 year, I H 5 11
FMER Bl H S B — double BYY year Z8 8, b U0, 2 year BUE 5. 216 B, TR BT
B 5EE 216 KM E HAEE f #4847 Bank )7 computerInterest O35 ) 5 # AR )
FELRIEHACIHE 216 KRR . A, BB RAT B0 AT 5. 216 A8 B0 43 TR 45 e 60 1Y)
year, il super V8 FH BRORT ) 422 3848 50 R) EL I O 2 .

#ok ConstructionBank ZE#1 BankOfDalian 28 J& Bank 28 F 2%, ConstructionBank 28l
BankOfDalian 288l ] super 8 FH B384 i 5% 42 B F1J7 %

ConstructionBank 2% .BankOfDalian Z5H1 Bank 259 UML & 5.3 iz,

Bank

savedMoney:int
year:int
interest:double

computerInterest():double

T T

ConstructionBank

BankOfDalian

year:double

year:double

computerlnterest():double

computerlnterest():double
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Bank. java

public class Bank {

int savedMoney;

int year;

double interest;

double interestRate =0.29;

public double computerInterest() {
interest = year * interestRate * savedMoney;
return interest;

}

public void setInterestRate(double rate) {

E»



public class Hello {

public static v0|d main (Strmg

interestRate = rate;

}

ConstructionBank. java

public class ConstructionBank extends Bank {

double year;

public double computerInterest() {
super. year = (int)year;
double r = year — (int)year;
int day = (int) (r * 1000);
double yearInterest = [{Uf% 1] //super ¥ JH Ba i 1) computerInterest() 5 s
double dayInterest = day * 0. 0001 * savedMoney;
interest = yearInterest + dayInterest;
System. out. printf(" $ d LA RIFEIT SdET sd RWFIE : % £ I6\n",

savedMoney, super. year, day, interest) ;

return interest;

}
BankOfDalian. java

public class BankOfDalian extends Bank {

double year;

public double computerInterest() {
super. year = (int)year;
double r = year — (int)year;
int day = (int)(r * 1000);
double yearInterest = [{4i% 2] //super ¥ [T f& 8% ) computerInterest()Jj &
double dayInterest = day * 0. 00012 * savedMoney;
interest = yearInterest + dayInterest;
Systenm. out. printf (" % d JLAFE RIEMRIT S dFE sd RIWFE: % £ Ic\n",

savedMoney, super. year, day, interest);

return interest;

}

SaveMoney. java

public class SaveMoney {
public static void main(String args(]) {

int amount = 8000;
ConstructionBank bankl = new ConstructionBank();
bankl. savedMoney = amount;
bankl. year = 8. 236;
bankl. setInterestRate(0.035);
double interestl = bankl. computerInterest();
BankOfDalian bank2 = new BankOfDalian();
bank2. savedMoney = amount;
bank2. year = 8. 236;
bank2. setInterestRate(0.035);
double interest2 = bank2. computerInterest();
Systenm. out. printf ("FiMEAT A E A 2Z % £ JG\n", interest2 — interestl);
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A a;

a=new B();

Ra;

B b=new B();

a=b;
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public class Hello {

public static void main (String
System.out.printIn(" <S4

Swetarn s printin(*Nice to

Xt G 8 HT TR — J7 25 vl e ™ A A 6] AT
© LUk

TR A — abstract 28,2844 4 Employee, Employee B F25H YearWorker, MonthWorker,
WeekWorker, YearWorker X4 # 4F 45 BU 7 /K , MonthWorker X} % #% H 4 BU /K , WeekWorker
XT3 AR H K . Employee 287 —> abstract J7:

public abstract earnings();

TR E S LM earnings O F k. 45 i 4 H GUBGH K i BAK 7 =,

T3 —A~ Company 2, %K H] Employee X LB HVE 2 1 51 Employee % 52 841 1) H
JCA L& YearWorker X} 420 | 7 B %F % . MonthWorker X% 9 I 5 I X} 22 5% WeekWorker
XG0 BRI 4, FEF Ref ) Company X 42— 47 75 B 32 AT A i K B 401

O BIFBIiTRR

FEF B AT A 5.5 Pis .

I‘Ai‘l#ﬁ;k,am < T89600. 0T

O BT HR B 5.5 #HKEH
AR ESRA TCHE PEE e Java B2 7R,
CompanySalary. java

abstract class Employee {
public abstract double earnings();
}
class YearWorker extends Employee {
[ CAR D | //HE earnings()J5 ¥k
}
class MonthWorker extends Employee {
[R5 2] //HE earnings()Ji
}
class WeekWorker extends Employee {
[R5 3] // TS earnings ()} %
}
class Company {
Employee[ ] employee;
double salaries=0;
Company(Employee[ ] employee) {
this. employee = employee;
1
public double salariesPay() {
salaries=0;
(75 4] //i#8 salaries
return salaries;
}
}
public class CompanySalary {

public static void main(String args[]) {

Employee [ ] employee = new Employee[29]; /1T 29 2R B
for(int i=0;1i< employee. length; i++) { // B BLTRT P Ay A 3 2%
if(i%3==0)

employee[ 1] = new WeekWorker();
else if(1i%$3==1)

employee[ 1] = new MonthWorker();
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else if(i%3==2)
enployee[ 1] = new YearWorker();

}
Company company = new Company( employee) ;
Systen. out. println("/A F #Hi /K B4 : " + company. salariesPay() + "Ji");
}
}
O RS
(D X TR 2) 4% —4F 12 A A T8 R B —4F R4 3, e

public double earnings() {
return 12 * 2300,

}

(2) R4 abstract K ARRECI X % {0 abstract 2855 B A XF R 0] DU F 2R 2 /951 H
BURGH T2XF 0 EaE RIS 42, BT abstract 28 A LIAS abstract J7 15 . 3X R 5t AR IE T 2 06 25
B E X abstract 7, B T4 employee B NEICEEE N TEXF LN EHRXT £,
SEE LR ES 4XA] DL 3 P R E AT LE B employee BB IGTE H earnings O J5 85, 710
ZJ7 R B B3 salaries, B ANTF .

for(int 1= 0;1i< employee. length; i++) {

salaries = salaries + employee[i]. earnings();

}
O LRIEM% ]
(1) IR T2 YearWorker REE earningsO) J7 ¥, P27 Jn 1B 42 7R ERE ARG S5 1R 2
(2) PR3 hn—Fp e 61, B A Bl — 4R Bk .
O HELRBIRE
FH D 503 FAA, S B A - B2
FWHRIEM A B C D E
R 5 I
LR G IIRRIEN A B C D E
2521 (D 58 U Bl
252 (2) 58 B
S
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[fens 1]

public void averageWeight() {

weight = 65;

System. out. println("HE A IR E " + weight + " T 73L");
}

[ 2]

public void speakHello() {




public class Hello

public static void main (String

System out.println(* Az

System. out. println("How do you do");
}

U5 31

public void averageHeight() {
height = 176;
System. out. println("American's average height:" + height + " cn");

}
(AR |

public void averageHeight() {

height =172.5;

System. out. println("dt 5t AAYFEH) B & " + height + " JEK");
}

[ 5]

public void averageWeight() {
weight = 70;
System. out. println("Jt 5T AR TE : " + weight + " T-35");
}
L 2.
[%H% 1) super. computerInterest() ;
[H% 2] super. computerInterest() ;
S 3
(A5 1]

public double earnings() {
return 12000;

}
s 2]

public double earnings() {
return 12 % 2300;

}
L5 31

public double earnings() {
return 52 * 780;
}

[ 4]

for(int i=0;1i< employee. length; i++) {
salaries = salaries + employee[ i]. earnings();

}
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